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ENGLISH VERSION

Instruction : There are total four questions.

1 Explain the basic concept of Input Tax Credit. Give 20

explanation in detail about eligible and ineligible tax

credit.

1 @

OR
Rajesh of Rajkot sold 10,000 artificial flowers each of 10

Rs. 210 to Jayesh of Junagadh. Assume rate of GST is
12%. Calculate GST and state how it will show on invoice
? Who will pay the GST ? And also state who will bear

the same ?

(B) Gandhi of Gujarat State sold 10,000 artificial flowers 10
each of Rs. 105 to Modi of Maharashtra State. Assume
GST rate is 12%. Calculate GST and state how will
you show it on invoice. Who will pay the amount of
GST ? And also state that, who will bear the same ?

2  Explain following terms with reference to Input 20

Tax credit :

(1) Appointments of Credit and Blocked credits.

(2) Recovery of Excess Tax credit.

(3) Transfer of Input credit.

(4) Availability of Tax credit in special circumstances.

OR
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Mr. Mahavadiya of Rajkot is a registered service provider.

He presents following particulars for the month of
February 2019.
Particulars Amount Rs.
Intra-state taxable supply of services...................... 5,20,000
Legal fee paid to lawyer located within

Ahmedabad ......oooooiiiiee e 20,000
Rent paid by tax payer to the State

Government for his office building......................... 30,000
Received for services towards “IGNU”

(Delhi locate) Univ. Exams conducting

as an Inter-state transaction...............ccccccoeveeeeenn.... 16,000

From the above particulars, calculate the liability under
'Reverse charge mechanism' and liability under Net GST’.

Present rate of CGST and SGST are respectively 9% and 9%.

Explain in detail, ‘Tax Invoice’, Credit notes and Debit
notes.

OR
Give explanation about different types of GST-returns
and write a short note on GST-Audit.

What is meant by "Transaction value" with reference to
GST ? Explain “Valuation Rules” of it.
OR
Explain with reference to GST :
(1) GST Challen generation for payment
(2) TDS
3) TCS.
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